[ Efficiency vs vertpos |
-~ 0.5

20.45
2
2 04
(&)
$0.35
0.3
0.25
0.2
0.15
0.1
0.05

ICI

effi

1.0

Ratio

0 1D U0 0

[y
’
v
’e
+
i
i
b
T
L
+
4

0.95L H :
1072 10 1

10 0?
TP vertr (cr%)

—=— DQM_TT__mkFit-DQM_time_old132
Efficiend —— poM_TT_ mkFit-DQM_time_new132

~ 0.5 - . : :
Bk
n E : : : :
> 04F------ P S PRI P b
Py E : . . .
8 F b H : :
_90.35:— ------ Ty Feeseesedneens SRR
o E : : : :
£ 0.3 | ERRRRESERELRES Fereeeedeenans PR
© E : : : :
0.25F------ B ERRERES RPERRD P PR SRR AR
8 00 | O S W
T S e B
06/ R | B Y L3 O . + 3
3 b Wt
RV TSRS SR | PR PRI A AL
IS [ |
x t i
1 -4t 4444 1
0.95L : ] j : :
=30 -20 -10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.1
>
2.0.09
S
#0.08
£0.07
3
£0.06
Q
o
£0.05
3]
0.04
0.03
0.02

Y S N S SR S A

L

Ratio

PO -5 0 5 10 15 20
Sim. PV z (cm)



	Contents
	Page 1


